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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of

questions contained in the Question Paper are the same as those printed on the top of the

first page. Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives

given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the

Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted

time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere

other than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 54/AS/4-A on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ACCOUNTANCY

()
(224)
Time : 3 Hours] [Maximum Marks : 100
g o 3 Hud] [quie : 100
Note : (1) All questions are compulsory.
(2) Marks allotted for each question are indicated against it.
et ¢ (1) @W ueT aitEd 2
(2) YIS ¥eT & % SEb G IR T F)
1 According to which accounting concept, both the aspects of a transaction 1
are recorded ?
(A) Matching concept (B) Dual aspect concept
(C) Money measurement concept (D) Realisation concept
WEiET B fRE SEURIT % SgER WA-aAl % & ual @ sfferad feedr
ST &7
(A) TEE SEEren (B) Tgwaim srEemen
(C) H&l HY TR (D) IgAT IEERON
2 The vouchers which are prepared to record non-cash transactions of the business 1
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are called :
(A) Debit vouchers (B) Credit vouchers
(C) Transfer vouchers (D) None of the above

TG b I-THhe AT & AHAET & fau T gworel @ Gar fear s
¥, BEAM §

(A) H JHE (B) ST WHTTE

(C) W oI (D) SUUa # § @y Tl

W
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3 Which of the following errors will be disclosed by Trial Balance ? 1

(A) Errors of omission (B) Errors of commission
(C) Compensating errors (D) Wrong casting
Ligia R S e & 1 01 B B e A A o
(A) i srgfeat (B) @ sryhgat
(C) afaqw sgheat (D) TEd WS
4 Capital reserves can be utilised for : 1

(A) 1issue of bonus shares
(B) meeting any future loss
(C) meeting specific purpose for which it is created

(D) None of the above
ISR d99 &1 Suan fEe Wy fear s @@ar & 98 ®

(A) T9E sigl &1 T

(B) wfrer & &9 aren frelt s =ift & ufd &

(C) Taitre 3gea, Tomas WU @ go@ fear T & & gid &<
(D) SUU H H Hig TEl

5  Internal liabilities include : 1
(A) Creditor (B) Capital
(C) Bank Loan (D) Expenses due
e daatet ¥ ahufd ¥
(A) TR (B) Gt
(C) % HI (D) =g 3>
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Which of the following is not an output unit of a computer ?

(A) Printer (B) Speaker

(C) Magnetic disk (D) Monitor

= o ¥ 9 W Tk YL B ey ghe T E 7
(A) B B) w3

(C) #mifes fewn (D) ¥R

State any three objectives of Accounting.

QBT & fbel dF SE9Al & STl BT

Show the effect of following transactions on accounting equation :
(a) Ravi started business with cash of ¥ 3,00,000.
(b) He purchased goods for cash of ¥ 75,000.

= W< @ WEr g X UNE B ey
(®) W@ F THg URT ¥ =R g fear 3,00,000

(@) TE9 We 9@ @lar T 75,000

What do you mean by ledger ? Draw a format of ledger account.

-8 & F®& JA4 T 7 Uk W Bl YEY L)

State any three objectives of financial statements.

g foreaoll & & @F I[9A F Sewi@ BT

State any three features of Tally.

S B His A faIdude B Ieg B

9]
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12 Enter the following transactions in a simple cash book and show the balance : 4
Date Details Amount )
2015
December 01 Cash on hand 25,000
December 07 Cash purchases 5,000
December 18 Cash sales 8,000
December 31 Rent paid 3,000
e T W A Uws—el # gfafy @ifsg qar 9w Al 39y
fatu foaTm T )
2015
T 01 T UHS 25,000
Tt 07 ThE B 5,000
Tt 18 T famd 8,000
Tt 31 o &1 e e 3,000
13  What is Journal ? Distinguish between Journal and Ledger giving any two 4
points of distinction.
U 68 ®ed 3 7 fRRl @1 [Agel % TUR WX USmmEn Ud gar-ael o
Y SdRU|
14  Explain the term convention of conservatism with example and also explain 5

its significance.

BiGaedr @l Il &I IEEWT Sh TUART| 396 Tod &1 A v @ifsty)
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Define the following terms :

(a) Creditor (b) Revenue
(c) Payables (d) Liability
(e) Assets

el ECHECEC S

(®) TR (@) S
(M) I =) g
(%) wTHraar

Journalise the following transactions in the books of Karunakar :

2015

(@) Jan. - 1 Commenced business with cash.........................
(b) Jan. - 4 Deposited into bank ...
(¢) Jan. - 9 Purchased goods for cash...................................
(d) Jan. - 15 Commission received .......................ccoooeiiiiiiiiin
(¢) Jan. - 20 Sold goods to Amogh on credit .........................
HEHL B J&dl 9 Fe - &l Uemmer gfafear sivg

2015
(®) IO 1 BT AHET § AR G BT o,
@ AU 4 FB T T BUCcoiiiiiierieeieneeeee e
(@M TG 9 ABT AT G eerrrereereerrererereesreeeeeeseessseserereennes
(@) TEEA 15 BEIT TD BT oo,
() TEEH 20 FTEAE B TR AT TG oo,

~
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State the general rules in creation of reserves. (any five)

a9 % e & e |l &1 Swg sifse) (@ i)

Name the concept used by the computerised accounting. Give any three

differences between manual accounting and computerised accounting.

FIGA @ied § fE U &1 YA feAr ST € 7 SEel AW S|
A @B S HRLHA d@ieT H By qF o gaEy|

Explain how accounting is useful to (a) Investors (b) Creditors (c) Employees.

= % o duiesT g yer ¥ Swarl § 7 9nsEu
(®) T (@) wEr () T

On 313t December, 2015, the bank pass book of Sachin showed a credit

balance of ¥ 10,250. The following differences were found on that date between

the cash book and the pass book balances :

(@) Cheques drawn before 315t December amounting to ¥ 7,050 had not been
presented for payment.

(b) Two cheques of ¥ 2,000 and T 1,500 were deposited into bank on December
31, but the same were credited by the bank on 15! January, 2016.

(c) Insurance premium directly paid by bank I 650.

(d) < 2,000 wrongly debited to the firm's account by the bank.

Prepare bank reconciliation statement as on 315t December, 2015.

31 R, 2015 @& @fe & % wEgs I 10,250 & SET AW I9i W)

Ubs—aE X TEgsd i F wEr fafy & e e oo

(@) 31 feat & wed % 7,050 % T MU (6T T WfeT oA Tb YA b
fog gega @ by )

(@) ¥ 2,000 3T T 1,500 &% & O S H 31 oy & 991 BT T Al
¥% ¥ STB e 1 wHad, 2016 B AT

(M T 650 @1 % FU AT W @ Wer A e T

(F) §% 3 T 2,000 TAN ¥ BH B G &k A9 § @ fTm)

31 femwR, 2015 &1 ¥% Wy faexe s e |



21 Prepare a sales book of Patro Electricals, Cuttack for the week ending

151 January, 2016 :
Date Invoice No.

(a) 8-1-2016 071

(b) 10-01-2016 072

(c) 12-01-2016 073

Particulars of goods sold

Sold on credit to Ranjan Stores, Bidanasi.
10 Bajaj Water Heaters @ < 700 each

20 Phillips LED Bulbs @ I 300 each

Less 10% T.D. Sales tax 4%

Sold on credit to Jagannath Electrical, CDA.
20 Bajaj Irons @ < 350 each

15 LED Bulbs @ < 300 each

Less T.D. 5%

Sold credit to Raghunath & Sons, Balasore.
10 Khaitan Emergency Lights @ I 800 each
4 Khaitan Ceiling Fans @ < 1,500 each

Less Trade Discount 7 %%

15 Sl 2016 & @O 9@<E & o I sawieed, ded @ famg—adl qur

[:

fatu qa® qe&
(®) 8-1-2016 071
(@) 10-01-2016 072
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(M  12-01-2016 073 T TS G, FEERE Bl SUR AW ST
10 O UGl @ee 3 800 Wiy @ X 9
4 gae @i BT T 1,500 9fd B W I

1
azreqmﬂaa—a'c?r75%

22 What do you mean by Trial Balance ? State any four objectives of preparing 6

a Trial Balance.

qaue &1 ot FARU| qEUe M % el R Sevdl @l Sed it

23 A firm purchased furniture of I 60,000 on 1-7-2010 and of ¥ 30,000 on 6

1-4-2011. On 1-7-2012 one-sixth of the first furniture was sold for ¥ 8,500.
The firm charges depreciation under reducing balance method at 10% p.a. Accounts

are closed on 315t December every year.

Show furniture account from the year 2010 to 2012.

UH ®H F 1-7-2010 @ T 60,000 &7 q&AT 1-4-2011 @& I 30,000 HT HHMEY WAT |
1-7-2012 & T8 BHTEL @l 1/6 90T @ T 8,500 H o= fear| o gid 9w wgha @
10% atfiie Tae™@er [ & @R & | @ Ui 9y 31 feg=y & dun feu s ¥

a¥ 2010 ¥ 2012 9% @1 BHMEX @Al SR

24  Distinguish between Trading Account and Profit and Loss Account on the basis 6

of any four points.

forel TR fogell & SMUR W MR @[l Ud arv-—ei @l o <l S|
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25 From the following Trial Balance and adjustments prepare Trading and Profit and 10
Loss Account for the year ending 315! December, 2015 and Balance Sheet as at the

same date :

Trial Balance

Name of Accounts Debit Balance Credit Balance
R) R)

Aman's Capital ... e, 57,000
Drawings ..........coooiiiii e 5,700 ..o -
Purchases and Sales.......................i 1,30,000 ................. 1,96,000
Stock (1-1-2015) ..o 15,000 ..o -
Salaries ... 12,000 ... -
RNt 3,200 -
WVaZES . 31,900 ... -
General eXPeNnSeS............cccccooiiiiiiiieii e 15,200 ..o, -
Sundry debtors and Sundry creditors................................. 20,000 ... 14,000
MacChinery ...........c..cooiiiiiiii e 30,000 ........cccoooiii -
Cash at Bank ... 4700 -
Return Inward & Return Outward ......................................... 500 1,200
2,68,200 2,68,200

Adjustments :

(i) Closing stock I 20,000.

(i) Provide depreciation on Machinery @ 10% p.a.
(iii) Prepaid rent I 200.

(iv) Salaries outstanding I 3,000.
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=1 qoue quT guEsE 9 31 figwy, 2015 @ 99 9Y % fou =R @rar
Td AH-BIN @ar qar dise qor sdr fafy @ Rufy feror & s\ e

delud

o
alll | a§| 8888888888000 00000000000000000000000000000000000000000000000000sssssssrssns
3“%{ ]l 8888888880000 0000000000000000000000000000000000000000000000000000ssssssssssns 57 ; OO
5|5q Qa iaa5q 8888888800000 00000000000000000000000000000000000000000sssssrrns 17307000
aﬂ | 8888888888000 000000000000000000000000000000000000000000000000000000sssssssssssns 127000 .
ia5{|q| 8888888880000 0000000000000000000000000000000000000000000000000000ssssssssssns 37200
Il ‘lq El...............................................................................317900
E“IH q aq .......................................................................157200
iaiil | é |a|{ Qa iaiil | E:l lal{........................................207000
lQ“ lil .............................................................................307000 .
aa5 Il {-la5g 8888888800000 0000000000000000000000000000000000000000000sssssssssssns 47;00

5”1{“ 3' Elaig Q_a 5“1{“ aigaig Ry 500

2,68,200

A

(i) ofw ®iw I 20,000

(i) wMY W 10% e & T @A )
(iii) gEea fwwmr T 200

(iv) o = T 3,000
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- 1,96,000

... 1,200
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